Cumulative Algebra Review- Chapter 08

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.

1. 
[image: image1.wmf](

)

!

2!

x

x

=

-


(A) 0.5

(B) 2.0
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2. In the function 
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, constants are represented by A, B, C, and D. If 
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 is to be altered in such a way that both its period and amplitude are increased, which of the following must be increased?

(A) A only          (B) B only          (C) C only

(D) A and B only          (E) A and C only

3. The menu of a certain restaurant lists 10 items in column A and 20 items in column B. A family plans to share 5 items from column A and 5 items from column B. If none of the items are found in both columns, how many different combinations of items could the family choose?

(A) 25

(B) 200

(C) 3,425

(D) 3,907,008

(E) 
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4. 
Points A and B lie on the edge of a circle with center O. If the circle has a radius of 5, and if the measure of 
[image: image8.wmf]AOB

Ð

 is 
[image: image9.wmf]70

°

, what is the length of chord AB?
(A) 2.9
(B) 4.7
(C) 5.0
(D) 5.7
(E) 9.4
5. What is the measure of one of the larger angles of a parallelogram in the xy-plane that has vertices with coordinates 
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(A) 
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(B) 
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(C) 
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(D) 
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Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

Imagine that in 3050 the World Series is known as the Solar System Series, with games played on other planets and on the Moon.

a. Today it is not unusual for a fielder to throw a baseball at 110 mi/h at an angle of 35° to the horizontal, releasing the ball from a height of 5 ft.

i. Write parametric equations to model this throw if it is made at Dodger Stadium on Earth. (
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ii. If no one catches the ball, how long after it is thrown will it hit the ground?

iii. How far will the ball travel horizontally before it hits the ground?

iv. What maximum height does the ball reach?

b. Imagine that the throw described in part a is made at Red Planet Stadium on Mars, where the acceleration due to gravity is 12 ft/s2. Complete parts i–iv of part a for this situation.

c. Imagine that the throw described in part a is made at Tycho Crater Stadium on the Moon, where the acceleration due to gravity is 5.3 ft/s2. Complete parts i–iv of part a for this situation.
d. Discuss some changes that would have to be made to baseball rules or to the stadiums to accommodate games on Mars and the Moon.
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